U-Substitution
Review 10.2-10.4

Find each integral by substitution or state that it cannot be
evaluated by our substitution formulas.
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Find each definite integral. (A calculator may only be

used to check your answer.) ?
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Find each indefinite integral by substitution. 410) f L6x sec?(d4x? — 2) dx ) "
= Chox sec (W) =

#8) J 20x sin(5x% — 3) dx
= \Doxsinu—__
i 2 5 7o = 2 Gmet(aydu
u=Sx -3 .‘:QSSir\u J-u - 2 4alw~C
du _ /0x =
x = -Dceosn tC - 2 *an(‘l!“’)"’c-—
= (Ox dx
A = 'Dcos(SX’-3\+L

The Calculus
Page 3 of 4



U-Substitution
Review 10.2-10.4

#1y sec(550++5) dx - sox du Review Chapter 9
- Sec (u) rox

1 4
#1: Z(x3 -1} +C

t
u= SX + S
Au'—‘. 10x 2x

- 5 )
S =t s —%ln|9—3x|+C

= w)d
= §5 cosl)de 5 e —1]+C

= S_Slv\(u.) « C

. = #4: It cannot be integrated by substitution because the
— S SIn (5— x SS = powers of du and the integral do not match.
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